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1. a) Define geomefrical stability of
determinate or indeterminate may be
the statement.

b) The shear force diagram (SFD) of an overhan$ng beam AD with support at A and C
is shown in figure. Using it, detemrine

i) Bending moment at critical location and bending moment diasrarn.

ii) Loading on the beam.

20 KN
u2l

9KN

D

2' a) Find from first principle the product of inertia about centroidal axis of a quarter circle
lying in fust quadrant Vl
b) Determine moments and product of inedia about cenhoictal axes for a shade d area
shorm. What will be thd change in these values about an axis inclined at 3A"
counterclockwise to the centroidal X and Y-axis? From the data obtained, show that the
polar moment of inertia is invariant under rotation transformation. ts]

-2 n!*-g-nl*Em- J nr*

the structure. "A stn-rcture lvhich is statically
geometrically urxtable',. Give exarnple to support 
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\l}at is the significance of upper yield point as seen in ductile material like mild
sreel? Also explain how to specifu the strength of materials which do not have distinct
-vieii point. r41
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I
b) Two cooper rods and one steel rod together support a load as shown in figure. If the

stress in copper and steel are not to exceed 550 kg/cmz and 1000 kglcflf respectively.

Deternine ihe safe load tlat can be applied. The cross section of copper is 3x3 cm2

and thatpf steel is 4x4 cm'. Take Es:2Ec. 'vl
Load

E
Coppor g

E
o

c) A steel tuss is acted upon by the force as shown. It is formd that a 20 mm diameter

steel rod is capable of taking an ultimate load of 150 kll. [t' factor of safety is to taken

as 3; determine the required dianeter of rod BE. r<t
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5.

What is Mohfs stress circle? Write step wise step procedure for Moht's circle
constuction to deterrnine stress on an inclined plane, the plane acting with "like normal
stresses". Verifi it with the expression obtained analytically t8]

Compare thin and thick walled vessel. A thin cyiinOricai shell is made of t't"a piut... lt
has hemispherical ends having diarneter 300 mm and wall thickness 2 mm. Detemrine the

thickness of cylindrical portion if there is ao distortion of the junction under pressure.

Take Es:200 GPa and pbisson's ratio : 0.3. 12+41

Discuss shaft in series and parallel on the basis of total angle of twist and torsion. A
hollow steel shaft 20 cm in internal diameter and 30 cm extemal diameter is to be

replaced by a solid alloy shaft. If the tensional rigrdity is same for both the shafu,
determine the ratio of polar moduli. G for steel is equal to 2.5 times G for alloy. t8l

An 8 m long reinforced concrete channel section as shown is c4rrying water- Calculate
maximumtensile and compressive bending stresses. r" = 25klJ/m3,r*:10K.1/m3. t8]
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7.

8.

+l'- +.- - loo:- -- --*+'',i-*

Write an empirical formula for calculating critical load
Calculate the inaximum value of slendemess ratio of steel

firmulas is valid. Take oc:330 Ir4N/m2 and E:210 GN/m2.

for intermediate column.
column for which Euler's

***
t6l
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' l:-- --.--.1 ft:.:e- shear force and beadins- monent diasram of eirien loadeil frane. Also

roxn/i'r

,4*t?mt

-l

l.-'--.-::: dre principal moment of Lnertia about the ceniroid and locai+ tlie =urincipal

-.:. :-;i tle figure as shown bclorv. : U?-l

i'*- 65 n^tr:n--r'i<-- 80 mm --o1

.:-- ::.-.--:ss sphericai vessel of 1.9 m internal diameter and 6 n:m thicl: is fitied r"'ith a

:---- -:je: pressure until its volume increases by 40A rm2. Cul.rrlate tire pressure

-.-::--=: 
-i,.-,' 

tire fluid in the vessel. Ta,l-e 2 x 105 N/mm2 and Poisson's ratio : A.75. i6i
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3. a)

b)

Derive relationship between young's mgdulus and bulk modulus. .

At what distance 'x' from the fixed end of the unifonrr bar'should the '2t' force be

applied in order that the net overall change in length of the bar will be zerc?

t.5{

MPa

B0 MPa

t6l

t8I

4. a) For an infinitesimal element nonnal and shearing.stresses in the tvro mutually
' perpendicular planes are given below. Detemtine the norrral and shearing stesses on

ihe'inclined piane.at an angle 9f 20" r,r'ith vertical. Also calculate principal'skesses,

. their planes, maximum shear shesses and theirplanes: t8I

b) Detemrine the end fu-'ing couples,

stress is not to exceed 50 ldn-/m-
zuffers no angular iwist. i

diarreter of the
and the posiiion

shaft if tbe maximrnn shearing
of the section wtere tle sha.ft

t8l

1.2m'---+r'+-- .'1;5rn +

5. a) Deterrnine tbe ma:iirnum bending stress in the bearn shovm in figure belorn

Ail dimensions are in cm

b) A hollow mild steel tube is 5 m long'and 4 cm internal diameter. Thickness of tube is
8 mm and it is used as a strut rvith both ends hinged. Determine criticai load and safe

load on the strut. Take E:2.1x105 N/mmz F.O.S :3

[10]

50llPa

50 MPa

{-- .t.srn

i<**

t6l
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"- Ca:Lic-a:es a;e require to give their ans'rers'in their o\^rn words as far as practicable'

.'' -!--zr,P! AII questiotts'

.' -tfg6 in fue ntargin indicate {YE Msiks' '

.'" rier:rls suilable data if necessary'

- - D:-.'* a:iial force diagram, shear force diagam and

tae sho*'ir, inCicating the salient features'
3o kll/m

bending momeilt diaglam for the 
ti6]

--_.:------i

- 
/?J)*-J-jo-n+.-' iq:cinal

i U- 5o k]{: \ Hinge

i | \ Isli\l

,L I Y--1
il \.'l-ll \_eLL *>

"';- lo,m-----+k- 3 m --{

rl Deterrrine principal moment of inertia and orientation of nrir'cipal axes

tkough the ientroid. Ali dimensions are in centitneter'

pass-ing
t111
L'-J

Derive a relation betgeen Young'i modulus of elesticit-v, Shear modulus and bull'
i6l

moduius.

h) In a thin walled cylindrical vessel show that the volumetric stiain is equal to tlYo

times circumferentik skain plus longitudinal strain' t6]

.ri Ttr.o 150 mm x 75 mm x 4 n long timber mei"nbel's are rei:ricrcec with a steel plate

150 mm x 6 nrm x 4 m loag as shovm in figure. Tire three menibers ara adequatelv

bolted togethei. The permisiible stresses foi tire timber 
-and 

rhe stcel memt'ers are

;"i;iJf;;Jltiirqri"#;-.'pJ;;ii. E for timber is 8.4 GN/m2 and for steel is

;t,;'c i/#.^ci*r"" the permissible tensiie load for the composite member and the

znrount of.elongation due to this load. I 
u n.,* --F3r3"FrJ:r\

Exam'

Livel i BE
Jl r

--j

Programrne i BCE
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4. a) Determine the principal stressesr orientation of principal planes" maximum shearing

and normal rtd; ;; ine pt*. of maximum sheai stress' Yerify the results by drawing

Mohr's Circie' t8l

75 Nlnm?

b)

b)

A steel shaft transrnits 200 horse power at 150 tp*. ]f the shaft is 110 mm in

cliameter, find the torqu" in the shaft and the maximum shear stress developed' Also'

deterrnine the angle oi*4r, for th.e siran in itte length 5 m- Take G : 90 GN/#'

(i itP:746 watt)

A simply suipoted timber joisr oi 6 rn sp;n has to carry uniforiniy Cstribi:ted load

s r<N/m over 
-its 

entire let gth and a poiniloarj of 15 kli at its cflter' Determine the

am.nuion, of the rectangular joist # the ma,ximum permissible stess in bending is

12 N/mm.2.

Derive an expression for Euler's fonnula for crippling load of a columa of length 'L'

with one enC fixed and ather hinged ccqdiiion'
' *+*

t8l

5. a)

t8l

tBl

30Nlnm?

30Nnix2
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Sabject: - Strenglh ofMateia\(CE 502) -

C:rfidates are required to give their ansu'ers in their own words as far as practicabie'

-=:t z rrp t A ll que st io tts.

::.-r -iguG in the margin indicate FuIt Marks-

-t-r;ri.e suitable clata if necessary.

2., Define point of contraflexure. Derive the relationship between rate of loading, shear

ii:ce and Barding moment' 12+41

:. l:ar"'axial force shear force and

AIso vtite the salient featwes.

8m

Define principal moment of inertias and principal axes'

Deiermine principal moment of ine*ias and principal

cenr-rcid for the foliowing shaded area'

bending moilent diagram for a given loaiied frame'

t10l

15 kN,/m

axes passing through the

5cru

t2J

tl0]
t
I
t
t'n

I
J
I
I
L
V

I

Fiid tlre total elongation in tlie bar. Take E for the nraterial as the 200Gpa' A Sleel bar

;l6d;%ross-!"ction al areais canying loads as show' in the figure given below'

T

l2ni
rY-N
't
I

I
.:r

' 90F.i;'4 -'

p- l5t mn-1- l{ill,r rrut'*{- li$m'n-Jr

4iliN

t6l



I
b) A Circular bar ABCD, rigidly fixed at A and D is subjected to a'cial loads of 50 KN

and 100 XN at g *iC; ,ho*o in the ng*:' q"-C t*"ifs shared bv each part of

the bar an6 disptac"**tr;ithe points g uiJ C. rur" E for the steel as 200Gpa [10]

Direct stresses of 100 MPa in tension anC 60 MPa in compression are applied to an elastic

materiai at a certain point on planes rigfrt angfes to gach oth3r, If the maxirnum sffess in

il;;; itg-tfi", to *-hat shearing strels can the material be subiected"l th: point?

\ltat is &es tne u*-<inuni s}.ea:bg s+:ess h 1le iirderi"i? Also find the magnitude of &e

principal stresses and its planes.

A thin cylindrical shell is 5m long and has 1m intemal diameter and 20mm metal

.thickness. Calculate tt q *u"i-*iintensity of sbear strqss, longitudinal' stress 'and

circumferential stress induced, if subjected io * intemal pressure of 5 Nlmrn2' Also

calculate cbange in diameter, length and volume of the shell- Take E = 2A0 GPa and

poisons ratio : 0.3-

A steel shaft is connected io fixed suppoits as shoun in figure. Limiting *ear sf:ess in

the material is 50 h4Pa. Detenruae tfte ntatinu* torque that can be applied at joint C'

What is the shear stuess at A?

4.

I8l

t4

t8l

7.

8.

A simply supported beam of span 10m is to canT unifonaly distributed load 20 KN/nr

over the entire span *a u point toad 50 Io.I at its center. Determine 
'h: {:l}1t":ion 

of

beam, if the beam is rectanldar in cross-section and the maximurn permissiblestress in

bending tension *O 
"o*pl"ssion 

are 120 N/mmz and 100 N/mrnz respectively' Take

deptl of beam two times its breadth'

Derive the Eulers formula for critical ioaci for a stl:ut with both end binged'

*!Fi.

t8l

t6l

3mm"r+4oomm
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C':ii;eies are requireC to give their answers in iheir oun rvords as far as practicable'

i::m;t 4ll questions.

:r.t f g"rrs in the margin tndicate Full Marks'

.!:.-i;ze suitable data if necessary'

, S-:e ihe principle of Superposition. Explain the stepYise procedure .for the

j:::imnatio' orrr"naing monent of the beam using the p;ni;pte of superposition' l2+2J

: D;1..,.- axial force, shear foice and bending momeni diagrarn for a given loaded frame' 
UZ-)

-{Lc rvrite the salient features. 
100 KN

-1

I

i
zitl

I

I
I

_t

LlJ

[10]

:: =:i ex,Deriment, a bar of 30nrm diarr-reter is sub.jected to a puii cf 60 KN' The

*:::-c-,:ed extension on guage length of 20c mm is 0'09 mm anc the change in the

--::e:.:t is 0.0039rnm. calculate 1lte vaine.s of Poisson's ratio and tluee elastic

::--::'1.

1 - r:-p3s:ie bar made up cf steel anC alumintrm is rigidl.v- f-iXed betiveeu ttvo supports

.- i--:-,,,r1in figurc. Ire.i.i,o bars ar., fi-ee of siress atlnitialteinperattire of 25'C' Filrd

---: -r--:3:ses in the tvi'o bi,rs rviieta iii': tenperafure incrc:ases to 50"C il
, ^ -: s.iPPoii are unYielCing

,- l:-: slppgrts ncve alvay.1icl,i e:cir ofilei by-0'1 utl|; - . ^-(' l'-.'::-: A:2 00 GPa, Ea:70 CPa, ct5= 1 3 " i 0-';i" C' u' 1=23'1* 1 O-i'"C]

[5]
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4- a) Determine the normal and shearing stress on the inchned plane at the angle of 40o to

'Jre vertical. Also calculate principal stresses and their planes.

r0 
fea
P

[--l'orvlPauo*o:ti 
i"-Fscntp'somral 
i

+
?

- 30 MPa

b) A 1 m lcng hollow cylintirical shaft is to be designed tc transmit a po*'er of i670 KW

ai a.rotational speed of 4500 'mm. The outer diameter is to be i.75 times the inner

diameter. The maximum sheai stress of the rnaterial is to be iimited to ?10 MPa and the

angle of hvist is not.to exceed 0.5 degrees. Determine the size of the shaff. Assume

-n11i*rr* torque is 30% greater ihan the aveftge tcrque. shear modulus of material is

25.5 GPa.

5. a) Derir,e the Euler's formuia for critical ioad fot a sirut with one end fixed another

hinged. Also mention the limitation for using this formuia'

h\ A slmnlv sunnoded beam of span i0 m, subjected to UDL lv throughcut the length. If
vJ tL':L::E;i e'rt

permissiirie-b"n'jing stress in iensicr and conpressicn aia 150 MPa and i80 MPa

iespectiveiy. Calculate [{oment of resisiance and value of IIDL by aszuming the I-section

as sirown in figure.

i8l

t8l

t6l

t8l
10S mm

n---Tot-ttF

A cylindrical sheli of lengiir 4iir intemal diameier 3O0rr,rn and wall thickness of 12mm is

initialiy filieti with water at aimospheric pressure. Find the increase in.,'olume if the lvater

is piimped to increase the irterrai pl'essure to 6]',1-lrnnf. Ta.l:e E:2.10x105N1mi#, v:0.3

anii K:2100 N/nini'.

fts **
T

150 
nm

r^- i
i/) mrn

+:+ *
Lol
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Subject: - Strength ofMateria.ls (CE 502)

. *--:'- i .ie,i aie required to give their anslers in their own rvords as far as practicable.

. '-::--:: All questions.

' ,--: _--_.-;.::s !i: Ihe margin indicate Full Merks.
' :-::--. si!;cb[e data if necessary.

!--:-;'er:plain the properties of internal hinge- What do you,,undeistandby point of
:.: -:aiexure? n. '12+21

-:,'.,.' .-.FD, SFD and BI\4D for following beam. Also indicate the siient features. [12]

l:=-= -::oiuct moment of ineCia.

--' : --::e the principal moments of inertia of the section given in figure and their

-:-:::=.:.. Assume horizontal and vertical axes tc be the given x and y axes and ihe

r.-- -: : - l::t corner of the section to be the origin for the purpose of your calculation.

-.-=::--::he expiession fai elongatio:r in bar iiaving turiformly tapering ciicular
- : :.- -- 

- - -::iected io iensile .load F.

-- -==-:--: c; cioss secticnai a:'ea l000mm2 alci tri,o biass rod each of cioss sectional

:--=. !- -::il icgethcr suppori.the load of 50KN. Calculate the stre-sses in the roC.

-. := :-: =:eel as 200GPa and E forbiass as 100 GPa.

t2l

[10]

lol

20I$lim

15 KN/m

rill ll
: 2m | 3m rlrnr lm I Jrn I

[1 0]



+. a)

b)

v]

The state of sfoess in a tlvo
the pincipal stresses and
sfoess.

dimensional stress system
their direction, maximurn

is shcrvn in figure. Determine
shear and associated normal

t8l

80MPa 80 MPa

Prove that the hoilow shaft of same material, same weight and sa:ne lengi.h is rnore
stronger than the solid shaft in case of torque transmission.

Derive Euler critical buckling load formula for a column hav-ing one en<i fixed. and the
other end free. Discuss the limitations of Euler buckling formula.

A 3.0m long cantilever beam having seli-weight 1.5 kN/rn is subjected to a
downwards point load of 'P' kN at the free"end. Determine the value of 'P' and the
moment of resistance of the beam. Take permissible bending stress in tension and
compression as 150MPa. The cross'section is shown in figure.

*++

t8l

i6l

t8l

l/

la cm

T
\18 cm

t,-r

6. A cylin,Ciical shell of 260r"-n exiernal diaineter 2.5 rn leneth and 5mm waii thicicness is
subjected to intemai presswe of 1.60 MPa. Caiculate the change in diameter, length and
voiume of the cylinder if the cylinder has a longitudinal joint (85% efficiency) and
circumferential joint (659/o efficiency). Talce Young's modulus : 200GPa and Poisson's
ratio : 0.3 l6l

,r 18 cm *.

4cm#
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candidates are required to give their answers in their own words as far as practicable'

Attempt All questions.qttgnPt t rr qwer,tv"o'

fneig6 in the margin'indicate FullMarks'

Assume suitable data if necessary'

bending mornent diagrams for the frame' Indicate
tl6l

BCE

lI/I

1. Draw axial force, shear force and

numerical values at salient points'

a) What is Product of inertia?

b) Determine PrinciPal moment

passing through the centroid'

tzj

given figure below about the alres

t10l
of inertia of the

45 cm

100 cm

30 cm

3. a)

b)

Derive the expression for the total elongation of a uniform bar of lenlth L and cross

section area A under its self weight'

Tlvocopperrodsandonesteelrodarehavingdiametler+.cm'leettrersupportaload
3000 kg as shown il d,jt" below. Dete-rmine the stresses in each rod' Take

E, = J x-196 kglcmz E" = 10u kglcnt

tsl

t8l

120 cm



{. a)

1*
For the state of plane stress shown in figure below deterrnine.

i) principal stresses ii) orientation ofprincipal planes
iii) ma<imum shearing stress iv) normal stress on the plane of maximum shear stress

181

b)

i. a)

t8I

A simply supported beam of span 5m loaded with udl 4 lihlh. D&mine the
maximum value of bending stress 15 cm above the base of the craes slion. The
cross section is T-section as shown in figure. tSl

b) Derive an expression for the Euler's formula for crippling load on acsliim with both
ends fixed.

Derive an expression for the volumehic strain of a thin walled cylinfticd rlesl with its
length'L' intemal diameter'd' and thickness 't'.

Derive torsional equation. I = 3 =9JR L

3m

t8l

t71
*rtr*

l0 crn
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Candidates are requked to give their answers in their own words as far as practicable'

Attempt Alt questions'

The figuies in the mqrgin indicate Full.Marks'
Asswme suitable data dnecessary.

Draw axial force, shear force and bending moment diagran for the given frame' Indicate

numerical values at salient points-

30 kN
15 klt{/m

D

t16l

20 kN/m

4m 4m
2.5 m

2.5 m

2. a) what do you understand by principle moment of inertia and principal axis?

b) Detennine the principle moment of inertia of the given figure.

t4l

[10j

T-

I

'-1
I
Il

3. Derive the expression fqr the total elongation due to the circular tapered bar. Two copper

rods and one iteel rod is of 3 cm diameter, together support a load of 5000 kg as shown in

figure below. Find the stresses in each rod. Take 'E' for steel and copper as

z1 n6 kg/cm2 and 106 kg I cm2. [6+6]



4. a) For the state of plane stress shown in figure below detennine (D th" principal planes
(ii) principal stresses (iii) the maximum shearing stress and the corresponding normal.., stress.

60 MPa

t8l

b)

5. a)

b)

Show that hollow shaft is more strong than solid shaft when material, weight and
length are s:une.

Derive the expression for the Euler's formula for crippling load on a column with
both ends hinged condition. Explain the limitation of Euler's Fomrula also.

For the simply supported beam of 4m span loaded with UDL of 3 k}tr/m, determine
the value of bending sfress 80 mm above the base of the cross section. The cross
section of the beam is I section and the dimensions are shown below.

6. Explain the different types of stresses in thin walled cylinders.

l8l

t8l

t8l

t6l
***

15 MPa

l- 30cm .l
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,/ candidates are required to give their answers in their own words as far as practicable'

{ AitemPt 4ll questions'

t ^rii 
ti;"6 i" the margtn indicqte Fqll Marks.

t ,q.stiii suitatble data if necessary'

l.Drawaxialforce,shgarforceanjbendingmom.entdiagramsfortheframeshown
figure below, i"ar|"*g,tt" principJnumeical values at salient points'

+
lr*t
i'*t
ll*,f'

Find the PrinciPal moments

shown in figure below'

m

[16]

80

32

10 KN

2.
of inertia and directions of principal axes for the section as

t12l

600

300

Quarter Circle (in mm)



t:..*

3. a) A block of steel 300 mmxl5O mmx 100 mm is subjected to axial loads as shown in
figure below. Find the change in the dimensions of the bar and change in volume for
the material of the block. Take Es = 200 GN/m2 and poisson's ratio (o) :0.30.

b) What is the stress concentration? What effect is produced in brittle material due to
stress concentration? t4]

4. a) For an infinitesimal element normal and shearing stress in the two mutually
petpendicular planes are shovtm in figure below. Determine the normal and shearing

$ress on the inclined plane at an angle of 30o with vertical. Also calculate principal
'g!rysses their planes, maximirm shear stress and their planes. Verify your result using
rMohr's circle. tl2]

'ii

b) Prove that longitudinal stress is half of the circumferential stress for the thin cvlinder
with neat sketch.

i8l

l--

.:]

ii.
l

:....
!.!
:1

r!:.

5OO KN

3UlttFs

I4l



?
5. a) A horizontal shaft securely fixed at each ends has a free length of 11.25 m. Viewed

from end "A" of the shaft, axial couples of 30 KN.m clockwise and 37.5 KN.m
counter clockwisq *act on the shaft at a distance 4.5 m and 7 -5 m from left
respectively. Determine the end fixing couples in magnitude and direction and find
thJdiameter of shaftis&) for a maximumitrearing stress of 60 N/mmz. t10l

Tc: *30 KN'm
.l
T

t

6.

b) Derive the bending equation [g = Y = *l ' [6]LvIRI
Derive Euler's formula of critical load for a steel column with both ends fixed. Also
explain the limitations to the use of this formula l&21

l.*

I Tn: -37.5 KN.m
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Candidates are required to give their answers in their own words as far as practicable.

Attempt All questions.

The figures in the margin indicate {ull Marks'

Assume suitable data if necessary.

_ 1. a) Define shear force and bending moment at a section of beam.

-- b) Draw axial force, shear force and bending moment diagfam of the frame shown in

figwe below.

30 KN/m

20 KN

2. a) Obtain the principle moment of inertia and draw principle axes for the plane figure

given below. t8l

g.

Derive the relation

t4l

lr2l

tr

['
-g

Mo,E
-=- =-I vRb) t8l



:1

3. a) Find the forces in each members of the bar system shown in figure below. Take cross

sectionat area of each ;;;;r;;# *A *ai"s of elasticiqv p as z"tolql-m2. l8l

b)

4. a)

b)

5. a)

b)

The principle stresses at a point in a bar are 100 MPa tensile and 40 MPa

compiessive. Find the normal stress shears and resultant stress on a plane inclined at

60" io the axis of major principal stress- t8l

A water pipe 500 mm intemal diameter contains water at a prcssure head 100 m. If
the unit *.igtt of water is 10 KNlm3 and allowable stress of pipe material is 20

t8lN1mm2. Calculate the thickness of the pipe.

A solid circular shaft is subjected to a torque 120 Nm. Determine the diameter if the

allowable shear stress is iOb N/mm2 and the allowable angle of twist is 30" per 10

diameter length of the shaft. G : 10s N/mm2. t8l

Derive euler's column formula for critical load of a column with both ends hinged. t8]

Determine the slope and deflection at the free end of the cantilever beam shown in

fieure beiow.
40 KN

50 KN

E = 200 KN/mm"

t8l

5cm
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Subject:- Strength of Materials (C8502)

Candidates are required to give their answers in their own r.vsrds as far as practicable.
AAempt All questions.
Thefigures'in the margin indicate Full Murk\
Assume suitable data iJ necessary.

a) Explain shear force and bending moments.

b) Draw axial force, shear force and ben<iing
fieure belorv.

t4l

for the frame given in
uzl

moment diagrams

5 Kl.ilm

2. a) Determine principal moment of inertia and
figure shown in figure below.

draq' orientation of principal axes of the

[12]

t4l

t8l

b)

3. a)

F"*

Define principle moment inertia.

ABC is a rigid bar, wire BD is made of aiuminum and EC is made of steel. Determine
the stresses in rods and reactions at A. Take A4 = 4 mm2, Ast:2 mmz,Ea:72
KN/m2, E$:2lo KN1m2.

b) Derive a reiation beiween Young's moduJus of elasticity, Shear modulus and bulk
modulus.

120 cm

30 cm

k- . 129 cq .1

t8l



h
4. a) The state of stress in a two dimensional stress system is as shown in figure below

Determine the principal stresses and orientation of principal planes.

120 Mpa 120 Mpa

b)

5. a)

b)

Prove that the longitudinal stress at thin cylinders is equal to the half of
circumferential stress at that thin cylinders.

A solid circular shaft is subjected to 4 torque 120 Nm. Detemrine the diameter if the
allowable shear stress is 100 N/mm2 and the allowable angle of twist is 3o per l0
dianeter length of the shaft. G: 105 Nlnrm2.

Prove that the torque transmitted by the hollow shaft is greater than the solid shaft of
sarne weight, material and length.

***
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Subiect: - Strength of Materials (cE502)

/ Candidates are required to give their answers in their own words as far as practicable.
/ Auempt All questions.
/ Thefigtres in the margin indicate Full Ma*s.
/ Assume suitable data if necessary.

L Draw axial force, shear force and bending moment diagram of the frame loaded as shown
in the figure below: ll6l

rf30

l5 KN/m

t'lh : /
. F0 g'-/
'ft ?0, y'KN

c
,ZM DB

t0 8m

6m

2m lm

2. Determine the orientation of the principal axes and the moment of inertia about the

centroidal axes of composite section as shown.

8cm l2 cm 8cm

8cm

A F

tt2l

2

0cm

3. Determine the orientation of principal axes and principal stresses for the element loaded

as shown in frgure below. Also calculate maximum shearstress and orientation of their
plane.

80 Nlmm2

t8l

!

J

60 N/rnm2



r -.*!*4t ', i:, ,]

bt:

4. .A. cantilever beam 5m in length is subjected to the loads as shown in figwe. Determine

the maximum bending stresses in the beam. Also, determine the value of bending stress

25 mm below from the top surface of the beam.

Sftrm

8|fi/m
ill0mm

E
5Omm
l-_

5m
*- Z(Xlmm .*

t81

{.-+

{

I
I

5. Derive a relation between Young's modulus of elasticity and bulk modulus. t8]

6. A hotlow steel shaft having l0 cm outer diameter and 7 cm inside diameter is rotating at a

speed of 300 rpm. If the permissible shear stress is 80 N/mm2 and the maximum torque is
1.3 times the mean torque. Determine the power transmitted by the shaft. t8I

7. A thin walled cylindrical shell made up of copper plate has been filled with a liquid at
atmospheric presilre. An additional E0cc of liquid is then pumped into 3 m cylindrical
shell whose internal diameter is 300 mm and wall thickness 14 mm. Find the values of
pressure developed on the wall of cylinder due to this extra liquid. Take Poisson
ratio = 0.36 and Modutus of elasticity E = 106 kg/cmz. t8I

8. Derive an expression fbr Euler's fbrmula forcrippling load of a column of length L with
its both ends hinged condition. tl2)

tlt ll

*-

1i[
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Exam.

Level BE Full Marks 80

Programme BCE Pass Marks 32

Year / Part fi/I Time 3 hrs.

Subject: - Strength of Materials Q8502)

/ Candidates are required to give their answers in their own words as far as practicable.
/ Attempt All questions.

'/ Thefigures in the margin indicate Full Marks.
/ Assume suitable data d'necessarlt.

l. a) Draw bending moment diagram in the simple beam and frame shown in figure below: t4l

l0 KN-m 20 KN
ii)

4rc.
i)

5

b) Draw axial force, shear force and bending moment diagram for the frame shown in
figure below.

KI.i/m
20 KN/m

D
B

30 KN

12m

m

4

A

'6m

:Iz--_---__-E
6m

Ltzl

C
!

I

I

E

2. Find the principal axes and principal moments of inertia about axes through centroid of
the given figure. Verify your results using lV{ohr's circle.

3m 3m

it2J

m

m

m
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Examination Control Division.
2069 Ashad
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of Material Gn soz)

r' Candidates are required to give their answers in their own words as far aspracticable.
/ AnemptAllquestions.
/ Theligures in the mmgin indicate Full Marks.
{ Assume suitable data if necessary.

1. Draw axial force, shearing force and bending moment diagrams for the following frame
'loaded as shoram. Indicate salient points if any. ll6I

^K

Hinge

ltlm

3m

9m

2m

3m

2. a) State and prove parallel axis theorem for product of inertia. t4I

b) Determine the principle moment of inertia about centrodial a,xis and locate the
principle axes for the section shown in figure below. t8I

3m

3. a) Derive the relation between Bulk modulus and Young's modulus of Elasticity.

b) Determine vertical displacerrent of point F, if AB is a rigid bar and remains
horizontal, AC and BD arc rods made of steel and aluminium having diarneter 20lnm

t8l



a

and 40mm respectively. E for steel and aluninium are 200GPa and 70GPa
respectively t8I

I,-
D

4. a)

b)

5. a)

b)

r2o0r,r# 
4qoq 

-*
Derive an expression for the nomral stress and shear stress on an oblique section of
rectangular strained body when it is subjected to direct stresses in trvo perpendicular
directions accompanied with simple shear stress. t8j

Find the extemal and internal diameters required for a hollow shaft which is to
transmit 4^0 KW of power at 240 rev/minute. The shear shess is to be limited to
l0OMN/m'. Take external diameter to be twice the internal diameter. t6]

A thi! cylindrical shell 4m long and thickness 1.5cm is of i.Scm intemal diameter.
Detennine the change in length and diameter if the shell is subjected to an intemal
pressure of 25N/mm2. E:2.05x10'Iymm2 and poisson's ratio:0.3. t6]

A cantilever beam 3m in length is subjected to load as shown below. Detennine
maximum bending stress at 25mm below from the top surface of the beam. t8l

5cmfi+*

l2cm

B

Y 2ow zt

c) A round bar is clamped at bo$om and free at top. Its effective length is 2m. A
horizontal force of 300N at top produces a horizontal deflection of 20mm. Determine
the buckling load for the bar if the load is applied a:rially on top.

,F++

t8I
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Year /Part tr/r fime 3 hrs.

Subject: - Strengttr of Material (CE502)

r' Candidates are required to give their answers in their own words as far as practicable.
{ Attempt All questions.
r' Theligtres in the margin indicate Full Marls.
r' Asswne s.uitable data if necessary.

L a) What do you mean by principle of superposition? Explain with suitable example.
What are its limitations?

b) Draw axial force, shear force and bending moment diagrarn indicating salient points
forthe frame loaded as shown.

KN l0KN/m 40KN
Hinge,

20 KN/m

2. Determine{,the principal moment of inertia and orientation of prirrcipal axes for the
composite section shown in figure below about its centroid.

4.5 cm

,"_l-lIt-l-I l,*,
12cm

3. a) How is offset method defined in drawing shess-strain relationship? Where is it
required?

b) A vertical rod of length 3m tapers unifonnly from a diameter of 80mm at the top to
40mm at the bottom. If it is rigidly fixed at the upper end and is subjected to an axial
load of 45KN, determine the total extension in the bar. Take density of
material = 2x105kg/m3 and young's modulus:2l0GN/m2.

-i
I

l:6
(:
1l-

fr

E

,
I
E

*
{
t
ti
I

ti
s
*.

f,

E

,

*
i
E

ti
o
i.
B
g

;
r
I
-i
!

i
i
:

:

t4I

. .t1?1.

It2l

t6I

121

1

i

i

i

l
I

I

i

i
I
I
I
I

i
t
I
I

t
ii
I
t
I

It
r

lry

't
T
It

I

I



'1
t

It

I
t:

c) A rigid bar AB is hinged at A and supported by a'2m long copper rod and a lm long

steel rod. It carries a load of 100 KN 
"f&e 

fr"" end B as shown in figure below. If the

area of cross-section of the steel and copper rods be l0cm] and Scmz respectively and

their respective values of E be 200GNi# and l00GN/m2, f,tnd stesses in each rod

and reaction at A (assume no bending in steel and copper rods). t8I

iI
i.l

i,

h
i-l

l,-
-1

t
,$

,I
l{
,i

i

r.i
t.'
H

ii

ii

:!,i

t.
:.

I
I

A
l

II
t.

lj

r,
ti
r

l6l

t6I

B

A
IOO KN

4. Figure below shows the stare of stress of point in a two dimensional stessed body.
Determine the values of princ{pal stresseSand orientation bfpiincipal platies.'

8 KN/cm2

6l0.{/cmz

6 Kl'I/cm2
12

12 KN/cm2

8 KN/cmz

5. A thin walled cylindrical shell rnade up of copper plate has been filled with a liquid at
atnospheric prcssure. An additional 50 c.c. of liquid is then pumped in to 2m long
cylinder w'hgse intemal diameter is 25 cm and wall thickness is 12 mm. Find the values of
pressure deteloped on the wall of cylinder due to this extra liquid. Take poission
ratio = 0.34 and modules of Elasticity = 106 kg/cm2

6. A steel bar of 2.5 cm diameter when subjected to a torque of 300N produces an angle of
trarist of 1.35 degrees in the length of 25cm. The sasre bar when subjected to tension
elongates 0.0lcm in length of l5cm under a load of 70KN. Deduce the value of poisson's
ratio for the material.

7. a) Desoibe the importance of computing deflections in beams. Also give two typical
examples of pure bending of beam.

b) Find the slope and deflection under the load Pr.

t8I

[2+U

t5l

E=2xlOsMPa

I:2x108mma

Pr=20KN
Pz:3OKN

8. Define buckling load and effective length of column and derive a Euler's fomrula for
crippling load of a column of length L \frrh its both ends hinged condition. t2-r61

Irt

2m

E

r

F
t
P

I

1

t
t

:

tI
l
I
I

l

t/
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Material

/ Candidates are required to give their answers in their own words as far as practicable.
r' Attempt All questions.

'/ T'hefig,nbs inthe'mmgtn indicatb Eutl Marhs.
/ Assume suitable data dnecessary.

1. a) Derive the ielation between bending moment and shear force at any section ofbeam.

b) Draw bending momelrt and shear force diagraurs for the beam ABC, which has hinged
support at 'A' and other support at B, supported by wire (fension member) as shown
in figrire.

2. a) Find &om the first principle product of inertia for a rigbt angled tiangle ruth base 'b'
and height 'h' along )O(and YY axes. (base and height are collinear with XX ana yy
&xes respe-otively).

b) Calculate principal moment of inertia and the orientation of the principle axes for the
shaded area shown in figure below.

1Scm

3. Two ,ffiroa, of steel and copper are rigidly fixed with the ceiling at their ends at-
;100cna apart. Each rod is 3m Iong and 25mm diameter. A horizontal cross piece connects

the lower ends of the rods..Where should a load of 3.5 tonnes be placed on the cross piece

t6I

t10l

I

L?,

6m

7
A

t4j

8l

B
4m L 2mL 6m

/-



I

I

l

i Fr

so thd it remains horizontal after being loaded. Take Es = 2x106 kg/cm2. Eo = 1.0 x.106

kg/cm?.

b) A rigid ba IAB' is hinged et 'C' and connected with a steel rod and a copper rod at

'A' and 'B' respectively as shown in figure. Both the rods are rigidly fxpd with the

ceiting at the upper ends. A load of 40I<It{ is applied at 'B'. Find lhe Tagntlule of
stresses in the steet rod and the copper rod. Cross sectional arsa of steel is 400mm'

and copper is 600mm2' Take F*'= 2titiKN/mm'and E. = 110KN/nrm2'

t8l

t8l

t8l

-r
'u

A :40KN

4. a) For stresses shown in figure below, find the norrnal and resultant stesses on the plane

shown. Find the direction of resultant stresses. Show ttre results diagrammatically.

50MN/m2
ls0MN/#

4m

1

b)

5. a)

b)

c)

Prove that maximum shear stess in a thin cylinder is half of the longitudinal shess.

Also dedve an orpression for volumetric silain for thin cylinder. [2r'6]

A hollorv steel shaft of 10cm outer diameter and 7cm intemal diameter is rotating
with a speed of 300rpm. If the perrnissible shearing slrpss fcr the .makrial is
80MN/m" and rnaximum torque is i.3 tim6.the mean torque, dctbrmire the Eiwer
transrnif.ed by the shaft. t6l

A horizontal beam 4m long simply supported at ends carries a rmifoqmly dishibtrted
load of 30KN/m over the whole span along with a concentrated load of 40KN at its T-
section rnid spa4. The beam is of T-section with web 30cmx3cm and flange iScm
x4cm makirrg ovefall depth of 34c$t. Find the maximum tensilb and compressive
sfresses if tle fl*nge is at the top and horizontal. t8l
Prove vrith Euler's formula that critical load forz steel cohunn with both ends hinged

is equal, 
#rJ,where 

all pammeters have theirusual meanings. t6l

+x+

I

I

i

60'l
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Subiect: - Srength ofMaterials

r' Candidates are required to give their answers in their own words as far as practicable.
/ Attempt any Five questions.
'/ Thefigures in the margin indicate Full Marks.
/ Assume suitable data ifnecessary.

l. Draw axial f-orce, shear force and bending moment diagrams for the frame shown,
indicating the principal numerical values at salient points.

5kN/m lokN

lOltliim

hinge
1okN

+
lz-

|:

[16]

u21
2. a) Calculate the principal morne,lrt of inertia about centroid and locate the principle axes

for the figure as shown below.

I
4cm

4cm
16cm

8cm

:4cm (hole)

b) Derive an expression for the elongation of uniform solid circular bar of diameter 'd'
and length 'l' due to it's self weight.

I

t4l



-l
I

{

3. a) The state of the stress in a two dimensional stress system is as shown in the figure.

Find the principal planes and maximum shear stress; Determine also the normal and

tangential stress on plane AC. Verify the results by drawing Mohr's circle.

120 N/mm2

t8l

I

I

I

C
40 N/mmz

180 N/mm2

A

The modulus of rigidity for a material is 0.5 x 10s N/mm2. A 10mm diameter rod of
the material was subjected to an axial pull of 10klI and the change in diameter was
observed to be 3 x l0-3mm. Calculate the Poisson's ratio and the modulus of
elasticity. t8l

Derive the torsional equation T/J: r/R = GO/L. t6]

A thin cylindrical shell is 4m long and has lm internal diameter and 12mm metal
thickness. Calculate the maximum intensity of shear induced and change in
dimensions of the shell if it is subjected to an internal pressure of 2N/mm2. Take
E:2 x 105N/mm2 and p = 0.3. tiOl
A stepped solid cireular shape of the dimensions shown in the figure is subjected to
three torques. If the material has a shdar modulus of elasticity G = 80 GPa, find the
angle of twist in degrees at the free end. Also calculate the maximum shearing stress
in the shaft. t8l

t8l

I
i

I

b)

4. a)

b)

5. a)

i

I

4

2 kNm
0 kllm

5Ocm 5Ocm 5Ocm

b) A simply supported beam of 6m.span is subjected to a concentrated load of 20kN at a
distance of 4m from.the left support. Calculate (i) The position and the value of
ma:<imum deflection (ii) Deflection under the point load.

20kN 20kl\l

'fu1, *rsolid circular compression member 50mm in diameter is to be replaced by a hollow* 'W circular section of the same material. Find the size of the hollow section, if intemal
diameter is 0.8 times, the external diameter.

b) Describe the Mohr's circie for stress.

i

!

I

I

2m
_,1

I

I

I

I

I
{

,k*i.

t8l

i8l
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/ Candidates are required to give their answers in their own words as far as practicable.
/ Attempt dny Five.questions.
r' Thefigures in the margin indicate Fu@fu.
/ Assume suitable data if necessary.

1. a) E:rplain static determinacy aod s'tability of the folloping truss. t4l

Realhinge

. -.. . b)..Drarv ddal forcg shear force and bending moment diagrams for the following frame. [12]

hinge
2m

10KN/q lr

t;
I

I
I

2KN I

I

6OKN 5m
3m

2. a) Calculate the principal MoI and their orientation forthe following section about X-Y

jb

il(es. [12]

:

l

?z:

i

I
t
a

I
I

.&

Y
12mm

O, 60mm ,

-

x

b) Neatly sketch stess-strain diagra4 fpr nild-$eel Showing salient points. 
"

l4I



I

). a) jerivc ii. rsraiign oi;^v.r.rlrri.ri rig..iry iL7 ",ru.::l^-i!'-.i:r- -r;i.istieity 1i,1 anci

b) For the following stress condition of an element, obtain principal stresses and their

orientation. Show the results in a neat sketch.

6ONimm2

80N/mm2

4. a) Obtain deflection at point A of the following beam.

P

I4l

uzl

t8l

EI
A B

b) Forthe following shaft, obtainthe angle_oftwist-aftee,erd. - t8I

t6l

ti 0l

I

i
t

1

I

I

i

10KN-tr

G:0.9x105N/mm2 dia

5. a) For thin cylinders loaded wittr intemal pressure p, obtain the relation for Hoop stress,
longitudional sftess and maximum shear stress.

b) Detemrine the variation of horizontal shear sfiess for the following section where
shear force is 50 KN.

5cm

. 5cm

6, a) Prove that the limiting plastic moment of a rectangular beaur made of eiastopastic
material is 1.5 times the ma:rimturt elastic moment.

b) A 5m long simply supported beam has 3Omm,modmum deflection due to a 800N
tansverse load applied at the center of, the beam. Determine the buckling load if the

beam of 5m length is used * 
" T_rf 

with one.end fixed and other end hinged.

tqI

0mm

Zcm

tr0l
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/ Attempt any Five questions.
'/ The rtgures in the margtn indicate Full Marks
y' Assurue suitable data if necessary.

1. a) Describe the types of supports and their reactions with necessary sketches.

b) Draw axial force, shear force and bending moment diagrams: for the frame shown
indicating salient points -* *T,;];

,^\

t0

iOKN

*

l,*

L-*

t4l

lr2l

l4l

u2)

I(N/m

2. a) Define principal axes and principal moment of inertia.

b) Determine the orientation of principal axes and the principal moment of inertia about

centroidal axes of the composite section shown in figure.

1Zcm
E
CJ('-

3. The state of stress in a two dimensionally stressed body is as shown in figufe below'

Determine principal stresses, principal planes and maximum shear. Determine also the

normal and tangential stressei on plane BE and verify the results by drawing Mohr's

circle. l16l

E

40N/mrn2

50N/rnm2

6cm

Eoc\

30N/mm2



-!
I
I

ti.l
a) The gap between bar A cf croSS.,Scciionai ai'c:;i 1ruO0:rr::r? i-.ir.l Da,- B of cross-sectioti,ri

area 800mm' is 0.26** at room te.mperature. What are the stresses in<iuced in the bars

if the temperature is raised to 40"C? Given: Ea=Z x i05 Nimm2, crA = 12 x l0-6/'C
andEg:1x lOsN/mm2, a'8,=23 x l0-6/oc.

b) The allowable shear stress in br:ass is 88 N/mm2 and steel is llQ N/mm2..Find the.
maximum torque 'T' that can be applied at the free end C in the stepped shaft of solid
circular section as shown. Find also the total rotation of free end ofthe shaft with
respect to the fixed end, if G6,*r:400 kN/mm2 and Grr..l: 80 kN/mm2.

i8l

t8l

I8l

0.26mm--rl kr

Brass d:80mrn
A Steel d:60mm

Derive the expression for Euler's critical load for strut u,ith one end fixed and the
other hinged. Explain the limitation to the use of this formula.

A cylindrical shell 4m long and lm diameter is subjected to an intemal pressure.of
2 N/mm'. If the thickness of the shell is 8mm, find the circumferential stress and
longitudinal stress. Find also the maximum shear stress and change in volume.

Derive a relation between-Young's modulus, bulk modulus and Poisson's ratio.

An I section beam lsymmetrical) has 2OOmm wide flanges and overall depth 500mm.
Each flange is 25mm thick and the web is 20mm thiclc. Determine (i) the maximum
bending moment that should be imposed in the section if' the tensile or the
compressive stress is not to exceed 40 N/mm2 (ii) What percentage of the moment is
resisted by flanges and web?

***

5. a)

b)

6. a)

b)

t8l

t6l

[10]

I
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/ Candidates are required to give their answers in their own words as far as practicable.
,./.:ltery-rt<tnyfuqws.tiort{'.-:.' . .- : : : r. ''--''- .... -. : -. .... ..

- / The Jigures in the margiir indicarc Filll Marks.
/ Assume suitable data if necessary.

l. a) Define the plastic moment capacity of beam.

b) Draw bending moment diagram and locate the maximum and minimum values of BM
for the frame which has hinged support at A and other support at B as shown in
figure.

6llNlm

t4l

[12)I

i 5

B

2KN

I-
2m

2. a) Calculate principal moment of inertia about the X-Y axes and locate the

,. 4x9s of the rlghi angl gd .!+apgle.sgcrion. ulith 15crn x- l
.j,::-'i. . j'- j,".._.jle'-i",'l.: r ., : .r I., ':-- l.i'. :..- i'i .: ':' ' i: : : : -'

59,-r- sider

Y

x
l5cm

b) Prove that the volumetric strain is three times the longitudinal strain for a cube

subjected to equal stresses in the three mutually perpendicular directions.

3. a)- Define the modulus of elasticity, modulus of rigidity, bulk modulusr4lld Poissqr's
ratio.

A

i
!

:

:

:

:
t
t
I
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t.

I-i
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t
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I
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t8l

t4l

I
ti

ti

tj
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l0 MPa <--

t

t.. .

I+" ,'

'1f,'

il,'

B

B

B

b)

:

4. a)

-.,. : .- 
,1

b)

5. a)

b)

A compound tube consists of steel tube I30mm intemal diameter and lOmm thickness

and outer brass tube l60mm intemal diameter and 10mm thickness" The twrr tubes are

"r 
rr*.l*grh. il ;uir"J,ru. carries a compressive load of 750 kN. Find the

itresses and load carried by each of the steel tube and the brass tube and the amounErt

shortens. Length of each tube is 250mm. Esret = 2x 105 MPa Eb,o, : I x 10s MPa

Transform the state of stress into the principal stresses and the maxirnum shearing

$trgsses and the qsspciated Bor-mal slre$ses. Show.the,rerqlts for both "ases o!
prop"r-1y ori.ntLa i"itr.nir. rlrr3il",rti"rrtlis":to Mpa,:cdrnprosive-sties3 ii ziwpi
and shearing stress is l0 MPa.

7 MPa

I
I

:!

lr 2l

u2l

t3l

l8l

_,fr, '\,
,1

I

-'!
i

-1
I

-l
I

...]

I

-,1

I

1
I

I
-

i

l0 MPa 10 MPa

r]
lr

r
I

-+> l0 MPa
t-
I
Jt

7 NIPa

Prove rhat plastic torqte of a solid circular shaft made of elasto-plastic material is 4/3
times the maximum elastic torque of the shaft.

A thin walled cylindrical pressure vessel of lm diameter and 8mm thick is filled with
water at atmosphere pressure. Additipnal water is pumped and the internal pressure is
raised to l0 N/mm-2. Find principal stresses, maximum shear stress in the wall of the
vessel material, E:200,000 N/mm2, v:0.3. For water, K:2100 N/mm2.

Determine the intemal and extemal diameters of a hollowshaft to grggr,rit a power of
30 kW at 24O rpm if the shear stress must not e5ceed 100 lvfPa. fiE outside diameter
is to be twice the inside diameter.

,,6. a),,,4, .beeq qf I..epliqp+?gg-rq,4.uFp, +.q9]Qgp rvide_ [as
thick. It carries a bending moment of l0 kNm at

t4l i

t8l

t8l

4

- .diagram showipg values of maximum stresses in the section of the beam. Calculate
the moment carried by the flanges.

..

b) A hollow- 5m long mild steel tube has the internal diameter of +c*' and thickness of
6mm. It is used as a strut with one end fixed and the other hinged. Find crippling load,
crippling stress and the safe compressive load for the member if E : 2x lOs N/mm2 and
factor of safety is 3.
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'/ Candidates are required to give their answers in their own words as far as practicable.
/ Attempt any Five questions.
'/ The figures in the margin indicate Full Marks.
/ Assume suita.Ti.e datc if ne,':essaty.

.1-Calculate principal moment of inertia and locate the principal axes through the ientroid of
" the area of the L section shown in figure. Total depth of the web is 20cm. Total breadth of

the flange is 15cm and thickness of the web and flange is 5cm.

2. Calculate maximum positive and maximum negative bending moment and draw thmst
diagram and bending moment diagram for the beam as shown in the figure.

2KN 5KN 1KN/m

l 1.5m l tm

I . a)r/O.e1tie the relationship among Poison's ratio, Young's modulus and modulus of
\r flgldlty.

b) A compound tube consists of a steel tube 15cm internal diameter and lcm thickness

and an outer brass lube of 17cm intemal diameter and lcm thickness. Two tubes are

of the same lengh. The compound tube carries an axial ioad of 1000 ki\. Find the

stresses and the load carried by each tube.

Take Ert".r = 2 x 107 N/crn2 illd E5p5s : i x 10i N/cm2

/ ^\ Di^!.a 
- 

i a : n. -i- x-s) a-!!vv< -y=OiiOr

[Sum of normal stresses is equal to sum of principal stresses]

t16l

'{

[16]

t6l

li 0l

i6l
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l uplane element is subjected to the stresses as shown in figure. Determine analytically
graphically, the principal stresses and their directions. Tensile stress is 50 MPa,

Compressive stress is 20 MPa, Shear sftess is 30 MPa.

5. A timber beam l60mm wide and 300mm deep is simply supported on a span of 5m. It
ca:ries an uniformly distributed load of I KN/m run over the whole span and three equal
concentrated loads W each placed at mid span and quarter span points. If the stress in
timber is not to exceed l0 N/mm2, find value of W.

6. a) Find deflection of the beam shown below at middle of the span. Given that:

Modulus of Elasticity oithe material is 20000 MPa
Section of the beam is 150mm x 250mm
Point Load W: l0 kN

w

p) A steel spherical pressure vessel of radius 1000mm having wall thickness of 10mm is
filled with a fluid and the internal pressure is raised to 1 MPa. Calculate
circumferential stresses and change in diameter. Take E = 200 GPa andv = 0.25.

* *:t

u0l

I

[16]

t8l

t8l
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